Name: Score:

A 3-digit & 4-digit by 1-digit: S1

- (Multiplicationj ~

1) 124 bottles of mineral water can be packed in a corrugated box. How many bottles
can be accommodated in 6 such boxes?

2)  The annual preschool fee for St.John’s school is $1,740. Mrs.Gillian admits her triplets
in the beginning of the school year. What is the total annual fees paid by Gillian?

3) A fighter aircraft travels at a speed of 652 mph. How many miles will the aircraft
cover in a flying time of 3 hours?

4) A thermal power plant requires 1,100 gallons of water to cool it down every hour.
How many gallons of water will the reactor require for 7 hours?

5)  Tim bought 8 packs of sugar candies. If each pack contains 115 candies, how many
candies does Tim have in all?

Sugar (<)
e (Candies <
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Name: Answer key Score:

A 3-digit & 4-digit by 1-digit: S1

- (Multiplicationj ~

1) 124 bottles of mineral water can be packed in a corrugated box. How many bottles
can be accommodated in 6 such boxes?

744 bottles

2)  The annual preschool fee for St.John’s school is $1,740. Mrs.Gillian admits her triplets
in the beginning of the school year. What is the total annual fees paid by Gillian?

$5,220

3) A fighter aircraft travels at a speed of 652 mph. How many miles will the aircraft
cover in a flying time of 3 hours?

1,956 miles

4) A thermal power plant requires 1,100 gallons of water to cool it down every hour.
How many gallons of water will the reactor require for 7 hours?

7,700 gallons

5)  Tim bought 8 packs of sugar candies. If each pack contains 115 candies, how many
candies does Tim have in all?

Sugar (<)
e (Candies <

920 candies
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